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in A <Model Name> ( AEVAALT—S{MEMORY HiCORDER) )
}2 4 <Model Number> ( 8807 (8807-01) )
B 1EHE S <(Serial No.> ( No. )
BEFEH H<Test Date> ( )
<YYYY-MM-DD>
BREFH<Test Conditions> ( °C, %rh )
#5E<Function>

No. | 15 B <ltem> | #58<Result>
1.71)> 8<Printer>
“-1.AYR7vF<Head up> ( PASS )
~2.R—/\—I 2 RK<Paper end> ( PASS )
2.1\9 954 F v <{Back light check> ( PASS )
3.ILTF v I<Self check>
-1.ROM,RAMF v 7<ROM,RAM check> ( PASS )
-2. 71 BF x4 <Printer check> ( PASS )
-3.%—,LED Fxv%<Keyboard check,LED check> ( PASS )
-4 LCDF v <LCD check> ( PASS )
4, #8E<Function>
1 T—3RA— | [EfiaRE<Data storage, Compression> ( PASS )
-2.A029 9T —4%<Logic data> ( PASS )
-3.% =a 7 )L F<Manual trigger> ( PASS )
~4 ) A )—R<Trigger source> ( PASS )
-5.TRIG OUTKTRIG OUT> ( PASS )
-6.EXT TRIGKEXT TRIG> ( PASS )
—7. B 848 BE<Time base> ( PASS )
-8.85&t<Clock> ( PASS )
-9.PCH—KFxv<PC card check> ( PASS )
-10.7¢ E & {E<Battery charge> ( PASS )
-11. 5% K <Square wave characteristic> ( PASS )
-12. 8 B # I E<Frequency characteristic> ( PASS )
~13. 7V F LT T 1)L 3< Anti-aliasing filter> ( PASS )
~-14.0—/\R 74 )L3<Low-pass filter> 5Hz ( PASS )

’ 500Hz ( PASS )

28 $FE<Overall Result> BEH dnspected by> &2 & <Approved by>
( PASS ) ( ) ( )
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fh & <Model Name> AEY\A23—4S<MEMORY HiCORDER> )

(
244 <Model Number> ( 8807 (8807-01) )
U EFE S <Serial No.> ( No. 000000000 )
BE S A HTest Date> ( 1900-01-00 )
<YYYY-MM-DD>
== Lo l RER A I HAsE * HFE{E<Measured Value>
<ltem> <Range> {Test Point> | <Tolerance> CH1 | CH2
DCIRIEREE<DC Amplitude Accuracy>
10 mV/DIV 100mV =+ 050 mV ( 100.06 mV)( 100.13 mV)
20 mV/DIV 200mV =+ 10 mV (2001 mV)( 2003 mV)
50 mV/DIV 500mV =+ 25 mV (5003 mV)( 500.6 mV)
100 mV/DIV 1V £ 0005 V ( 1.0006 V)( 1.0013 V)
200 mV/DIV 2V + 0010 V ( 2001 V)( 2003 V)
500 mV/DIV 5V + 0025 V ( 5003 V)( 5006 V)
1 V/DIV 10 V*+ 005 V ( 10006 WV)( 10013 V)
2 V/DNV 20 V + 010 V ( 2001 V)( 2003 V)
5 V/DV 50 V =+ 025 V ( 5003 V)( 5006 V)
10 V/DIV 100 V =+ 050 V ( 10006 V)( 100.13 V)
20 V/DIV 200 V £ 10 V (2001 V)( 2003 V)
50 V/DIV 450 V =+ 25 V ( 4503 V)( 4506 V)
100 V/DIV 450 V =+ 50 V ( 4506 V)( 4513 V)
{E&<Note>

* FAILHIEE L. YL—F T ELTULVET , <FAIL decision points are highlighted in gray.>
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